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SECTION - A (WS &)

1. (a) Whatis tax planning ? How does it differ from tax evasion ? (5)
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The Profit and Loss account of M Ltd., a domestic company for the year
ending 31 March’ 15 is given below :
Particulars Amount | Particulars Amount
(Rs.) (Rs.)
Expenditure related to Sale of goods manufactured
the goods manufactured 10,00,000 | by the Company 20,00,000
Expenditure related to Sale of Other Goods 10,00,000
the sale of other goods 5,00,000
Proposed Dividend 4,00,000 | Long Term Capital Gains 3,00,000
Provision for unascertained Amount withdrawn from 50,000
liabilities 50,000 | General Reserve
General Reserve 1,00,000
Income Tax Paid 1,00,000
Wealth Tax Paid 50,000
Net Profit 11,50,000
33,50,000 33,50,000

Other relevant information are as follows :

() An outstanding liability related to VAT for 2012-13 paid during 2014-
15 Rs. 50,000 which was not charged to the above Profit and Loss
account.

(i) Brought forward loss as per books of accounts is Rs. 1,00,000
while the brought forward depreciation as per books of accounts is
Rs. 1,50,000.

(i) Brought forward loss as per Income Tax provisions is Rs. 80,000 and
unabsorbed depreciation as per Income Tax provision is Rs. 2,00,000.

(iv) Brought forward Long Term Capital Loss is Rs. 2,00,000.

Compute the tax liability of M Ltd. For the Assessment Year 2015-16.
(10)
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OR

(a) Distinguish an Indian company and a domestic company.

5)

(b) Discuss the provision regarding Minimum Alternative Tax u/s 115 JB and
115 JAA. Is a foreign company also liable for MAT ?

() - A FT BT B ? a-g99 A 98 {6g yew e R 7

(10)

(@) M fefids Fmer vah e S H 31 AN 2015 @A Y a9 @ o @ ek

B oRar A R o e R
faraor afdr | faazor afs
(&) (®)

fAfte agal @ wefia Fwo gw A awgst
CE] 10,00,000 | &t ferht 20,00,000
I oaEga @ R @ F TEga & o 10,00,000
Wit @ 5,00,000
TR 4,00,000 | Sefafer Fofv @ 3,00,000
o st & T Red 4 e 50,000
for = 50,000 | 5 fH
qerg Rerd 1,00,000
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SECTION - B (WT )

2. (a) Explain the provisions of section 79 of Income Tax Act as applicable to a
company in which public are not substantially interested, related to carry

forward and set-off losses ? (%)

(b) A and B wants to start a business the estimated profits of which for the
financial year 2015-16 is Rs. 25,00,000. They have two options for selecting
a form of organization :
(1) Partnership Firm
+ Interest @15% per annum on capital of Rs. 10,00,000 each
+ Salary Rs. 2,50,000 per annum each

+ Equal distribution of remaining profits

(i) Company

+ Rs. 8,00,000 each as share capital and Rs. 2,00,000 each as a

loan @ 15% per annum
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(a)

(b)

)
* Salary Rs. 2,50,000 per annum

* Distribution of remaining profits as dividend equally.

Which option is better from tax point of view ? (10)
OR

Explain the concept of deemed dividend u/s 2 (22) of the Income tax
Act? (5)

A Ltd. wants acquire an asset costing Rs. 5,00,000. It has two alternatives
available. The first one is buying the asset by taking a loan of Rs. 5,00,000,
repaying it in 5 equal instalments of Rs. 1,00,000 each with interest @ 10%
per annum. The second one is leasing the asset for which annual lease rent
is Rs. 1,20,000 upto 5 years. The lessor charges Rs. 5,000 as processing
fee in the first year. Assuming the internal rate of return to be 10%. The

Present value factor are :

Year : 1 2 3 4 5

PV Factor:  0.909 0.826 0.761 0.683 0.621

Assuming lease rentals, processing fees, loan as well as interest amount are
payable at the end of each year. Suggest which alternative is better for the
company. Take rate of depreciation @ 15%, tax rate @ 34.61%. Assume

residual value of the asset is nil. (10)
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The written down value of the block of assets as on 1-4-2014 was
Rs. 25,00,000. An asset of the same block was acquired on 21-8-2014 for
Rs. 10,00,000. There was a fire on 15-12-2014 and the assets were
destroyed by the fire and assessee received a sum of Rs. 28,00,000 from
the insurance company on 17-02-2015. Compute the capital gains for the
Assessment Year 2015-16 and WDV of the block as on 1-4-2015 assuming :

(1) All assets were destroyed by fire

(i) Part of the block was destroyed by fire (%)

Mr. X is offered an employment by ITC Ltd. in Bombay on 1-4-2015 on
a basic salary of Rs. 80,000 per month and dearness allowance of Rs. 40,000
per month (50% of the dearness allowance forms the part of salary for
superannuation benefits). He is offered the following two packages :

Particulars Package-I | Package-II
(Rs.) (Rs.)

House rent allowance (actual rent to be paid 25,000 p.m.
Rs. 20,000 per month in Bombay)
Rent free accommodation in Bombay 20,000 p.m.
Medical allowance 10,000 p.m.
Remmbursement of medical bill of a private clinic 5,000 p.m.
Conveyance allowance for personal use 10,000 p.m.
Company’s car facility going to office
and back to residence 10,000 p.m.
Education allowance for two children 1,000 p.m.

per child
Free education for two child in a school 1,000 p.m.
owned by the company per child
Telephone allowance 5,000 p.m.
Free telephone facility at the residence of Mr. X 5,000 p.m.

Which package Mr. X should opt keeping in the view its tax liability ?

(10)

PTO.
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OR

What is “unilateral relief” in case of doubly taxed income ? How is it
calculated ? (%)

A Ltd. a manufacturing company is a widely held company. It is considering
a major expansion of its production facility and import of latest technology
which is expected to improve its profitability from present rate of 25%
to 30% (before tax). The finance manager has given the following

proposals:

(Rs. In Crore) A-

Source of Finance Proposal A Proposal B Propoﬁal C
Equity Share Capital 100 60 40
12% Preference share capital 30 50 -
15% Debentures 70 90 160
Total 200 200 200

(i) The rate of dividend on equity has not been below 22% in the past.

(i) The rate income tax applicable to it is 34.61% and corporate dividend
tax rate 20.36%

Your opinion with detailed reason is sought on the above, all the calculation
are to be done according to the Assessment Year 2016-17. (10)

(&) wRaaRT @ wifeh 1 FURT ed 14.2014 F 25,00,000 & 4T | F& =Ah EaleEn

GR&aRT T 21.8.2014 F 10,00,000 T N IUTd fRar @ o7 1 15.12.2014 A
T T A 3 ST ¥ gREaRT e B T R 3Rk FrufRed A 17.02.2015 H S FEA
A 26,00,000 & W TN I 7S | Frofeer ad 2015-16 @ fore Gl R 1.4.2015
F) =i & WDV & a8 AHa e ahitig feh -
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(=) A fafRs, Ter Fefar SO, T T X W00 T FR 2 | AE AT Jeqed ghaen
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® IER fag W E

SECTION - C (g )

4. (a) Whatis ‘advance ruling’ ? When a ruling does become void ? (5)

(b) Mr. Krishna, a resident Indian has derived the following incomes for the

previous year relevant to the assessment year 2015-16 :

Income from Business Rs. 8,00,000
Income from Business in Country ‘X’ Rs. 2,00,000
(tax paid in country X for this income
equivalent to Indian currency is Rs. 25,000)
Income from Business in country ‘Y’ Rs. 1,00,000

(tax paid in country Y at 20% converted
to Indian currency is Rs. 20,000)
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Mr. Krishna wishes to know whether he is eligible for any double taxation

relief and if so, its quantum. India does not have any Double Taxation

Avoidance Agreement with Country X and Y. (10)
OR
(a) Define slump sale u/s 2 (42¢) ? (5)

(b) Mr. X a non-resident has the following incomes from investment in foreign

exchange assets and other incomes :

(i) Interest on Ceh'tr_éileovt. securities Rs. 1,00,000
(ii) Interest on debentures of public limited company Rs. 2,00,000
(iii) Long term capital gain on transfer of debentures Rs. 2,00,000

mentioned in (ii) (computed u/s 48 proviso)

(iv) Other incomes ' Rs. 2,00,000

What will be tax payable by Mr. X for the Assessment year 2015-16 on the
above incomes under chapter XII — A (section 115 C-115 I) of Income Tax
Act. How can Mr. X reduce-his tax liability.? (10)

(=) ftm fafvia @ B 2 7 fafia =9 = & S R 7

(@) fee Fom e wrdE F Fuko @ 2015-16 @ WP e 98 @ R
ffofa ol w &6t €
EEE ¥ A ' 8,00,000 <.

/W X’ N FEEE A I 2.,00,000 T
(7@ s & fog X 3w & fean o
R HeT A 25000 & H TR @)

W Y’ H T A I 1,00,000 ®
(Y 3w % o o o, 20% swam
F ST W 20000 % 2)
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(i) Bz wWeR F gl | = 1,00,000 %.

(ii) ardsien Qg & & Ra=Rl W =W 200,000 ®

(iii) Sefafr Folvme av-ow (i) ¥ Sfeafad 200,000 <.
=R & 3w W

(U 48 T FGRN T HH SH{EHiord )
(iv) sFa o 200,000 %.

firer X grr fruicor ad 2015 - 16 & forg Swdaa sl W 31 o S & A
XII-A (URT i5c-N51) & Siaeta 27 ot o 81 ? R X 1ot R an &l &hd

FH T gEdl & 7

On August 10, 2014 X Ltd. (listed company) purchases its own shares
(face value Rs. 10, offered to the shareholders at Rs. 90 per share). Total
amount distributed by X Ltd. on buy back of 20,000 shares is Rs. 18,00,000.
These shares were issued in 1998-99 at a premium of Rs. 15. A is one of
the shareholders. He holds 2000 shares (cost of acquisition Rs. 27
per share, year of acquisition 2004-05). He gets Rs. 1,80,000. Compute
the tax consequences in the hands of Mr. A and X Ltd. for the assessment
year 2015-16. The CII of 2004-05 is 480 and for the year 2014-15 is

1024. (5)



5541
(b)

(a)

(b)

13

Explain the meaning of ‘Arms Length Price’ ? List the various methods under
which arms length price is determined u/s 92 C ? Explain any one method in

detail ? (10)
OR

What are the tax incentives allowed to new industrial units set-up in Special

Economic Zone (SEZ) u/s 10 AA ? (5)

X Ltd. amalgamated with Y Ltd. w.e.f. 16-9-2014. The written down value
of its block as on 1-4-2014, the rate of depreciation and the value .at which
the block of assets were transferred to Y Ltd. by X Ltd. are given below :

Block of Asset Rate WDV as on 1.4.2014 Transfer Value
Building 10% | Rs. 20,00,000 Rs. 18,00,000
Plant and Machinery 30% Rs. 50,00,000 Rs. 48,00,000
Fumiture 10% | Rs. 10,00,000 Rs. 9,00,000

You are required to compute capital gains of X Ltd. and depreciation
allowance for both X and Y Ltd. for the Assessment year 2015 - 16. Assuming
that amalgamation is in terms of section 2 (IB) of the Income Tax Act.

(10)

10 ST 2014 I X forfids (T i) i W @ T Y wded @ (sl
I 10 T) T ARenRal st 90 T i FeR vl g ww A) 1 X fifes gw
20000 I & AW WA H [ A 1800,000 € 2 1 ¥ IR 1998-99 F 15 %
i R S R g 2 | I e WA v ‘A | IWR I 2000 AR (3R
AATE 27 T WA AR, ST a9 2004-05) 1 3V 1,80,000 T Few £

fer A 3k X ifiee & fore Frefor ad 2015 - 16 3 @@ TR @ sifiEaT
HRC 1 CII 2004-05 480 & AR a9 2014-15 & 1w 1024 1

S oo = W o 2 ¢ e dfifor | fafte Rl o =t St R

aﬁﬁaaﬁﬁuaﬁwmwcﬁmwaﬁm%lﬁﬁwﬁ&aﬁ
AR @ S |

PTO.



5541 14

AAl

(%) fdw suffer wew (SEZ) ¥ wnfta = A RS @ o uw 10AA ® S
wWge HX - IO 2 7

(@) X fafids = v Rifie & A GREET 16.9.2014 < BT T AT | T Ik 6
TR e 142014 T, TR A T AN IR T4 T Y A o wan & Forr e
w aReaRE & i X fifics g Y ffits =t saRa o fear wan o

qReqfyal =1 =iw = WDV, 14.2014 &t A “ng
ae 10% 20,00,000 % la,oo,boo T
|ET QA A 30% 50,00,000 & 48,00,000 ®
FHRR 10% 10,00,000 % 9,00,000 ®

s X ffRe @ ol @t @ 3R X Y ffies 3 & foe e v
w1, Frofor af 2015-16 @ fg sftee &1 2 | 98 W | 6 TR e
FfFma & e 2(IB) it A A g2 |

(400)



